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A pool table 1s 1.3 m wide and 2.6 m long. A white ball 1s shot to rebound and hit the
lack ball. The angle at which the ball hits the side is the same as the rebound angle.

he positions of the balls are shown on the diagram below. Use trigonometric ratios to
find the distance the white ball traveled by the time it hit the black ball.
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A pool table is 1.3 m wide and 2.6 m long. A white ball is shot to rebound and hit the
black ball. The angle at which the ball hits the side is the same as the rebound angle.
The positions of the balls are shown on the diagram below. Use trigonometric ratios to
find the distance the white ball traveled by the time it hit the black ball.
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